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2.C WK, CYECD L ABFD.
B

A

A

A s, AB= VAC'+BC: =13, =
W A 218, ACX BC=ABXCD, .. 5 X

12=13XCD. .'.CD:%)>‘15—§, L OCHAB
L B R R IR .

3. YA A

4. 3<r<5 7f RtAABD #1,AB=4,AD=3,0|

BD= /3" +4"=5.
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F R AT 4 3<r<C5.
5. AL fEK BA & D, fifif§ BD=0A.#%# OD.

1EAOAC 5ADBO Hr,
JAC:BO,
/OAC=_DBO,
1()A: DB,
S AOACLADBO(SAS)
~.OC=0D, /ODB=_/AOC.
A0 OC, .. ~ODB=90",
OO 5 BC Y. 5L C ARV,
SOC>2F42, 5 .OD>242,
SHZ AB 5O0 W E X RIS,

2.5 BESEIVEXR (2)

S

B |

(AT &7

1.C OO MHRE 10,5 Q0 ByE4 r=5.
VRO OFIHL L MR d=5, Sr=d, " A
£ L FIOO MLE S R A,

2.A HNHEL 500 HA A3 BT L
HOO M), Bt d=r, B d=3.

3.D VAB=AC, & D2y BC (b S, 5 X
S S & A — R T A
/BAD=_/CAD,AD | BC, /B= /C. # A,
B.C 1F . D 545,

EWEY

1.D “CAB=4,AT=3,BT=5,..AB*+ AT =
BT ... ABAT & H fi =¥, H /BAT =
90°, & HER AT OO W) 4k; W~ /B=45",
AB=AT, ../ T=45",.. /BAT=90", ... H%
AT EOO 14 " ABN %, & /BCA=
90°, % /B=55°, . /BAC=35°, .. /BAT=



/BAC+_/TAC=90°, . H4k AT =00 1)
Ll LATC= /B, RIEFHEL AT 20
IR,

2.20° W, %#: OB. "~ PA,PB 2Q0 W4k,
A.BRYIE, . LOAP=_0OBP=90". ifi / P=
40°, 5 L AOB=180"— / P=140°, ¥ OA=0OB,

4OAB:40BA:M

A

3. (1) CA=CD, / D=30°,

S A= /D=30".

mE ., %4 OC,

*AO=CO, . NAOC JE551E =%

S /ACO=/A=30°,.". /COD=060°,

5./ DCO=180"—30"—60°=90°".

S.CDZOO WYL, ML CD 5©0 1.
E

=20°,

WA AEAE | CD. 32 E.

f£ RtACOD i, /D=30°,
5.OD=20C=8,AD=A0+0D=4+8=12.
#£ RtAADE i, /D=30°,

.;§A§m1>mmmmgAE:§§:&

ROR A
LD E AR BT R B A ) Lt A )
AEJZ [ A9 RI 2  BOEE T D BEIE A IR .

2.A . #ERE OA.
A

™

B P

W PA ROO ML, A Y],
S OAP=90".
"/ P=30"°,0B=0A=3,
~.OP=6,1{ BP=6—3=3.

3.27° VPAYIOO FHA. . LOAP=90".
"/ P=36°, .. SLAOP=54°, .. / B=2T".

4.1 “ABHERZ,. . ADB=90". " /BDE=
60°, ..~ PDA=180°—90°—60°=30°,
~. /PBD = /PDA = 30°. " OB = OD,
~./ODB = /PBD = 30°, .. /ADO = 60°,
~/ODE=90°, . NADO J%:ih =, PD Ky
OO W%, . AD=0A, /AOD=60°", .". / P=
30°, . PA=AD=AO=DO. #£ Rt APDO 1,
PD*+DO? = PO?, Bl (3)? + PA? = (2PA)?,
fiftf% PA=1.

5. A, %z OE, OC.

“"DE 500 HYIF&HE,
5. /OEC=90",
#EAOBC FIAOEC Hr,
JOB:()E

CB=CE,

oc=0C
5. AOBC2NOEC(SSS) .
5. /OBC=_/OEC=90°,
S.BC HOO Kk,

2.5 BEES5EIUEXR (3)

1.B " /A=45°,0A=0B.,.. /OBA=_/OAB=
45°, 0. LAOB=180°—45°—45°=090°, *.' &5 C
BABHH 0 ./ BOC= / AOC=45".
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V102 —8=6(cm). " CHEOGA F.. . OA
B4 N 6 cm.
LA AL #E: OALOB.

N

PA 2R O 4. = ~OAP=90°, 5] #
ZOBP=90", R #iz /U 71 & N 8 Fl 2 BE Al 45,
/AOB=360°"—_OAP— /OBP— /P=360"—

90°—90°—80°=100°, ." gc:%  AOB=50".

.C VPA.PBYIOCOFA.BWE,CD YOO
FME,.PB=PA=8,CA=CE,DB=DE,
S APCDRYJE K = PC+ CD+ PD= PC+
CE+DE+PD=PC+CA+DB+PD=PA+
PB=16.

L& OA, OP, M OA_L PA. R 95 1 5 7] 1%,
CA=CE,DE=DB, PA=PB. " PC+ CE+
DE+PD=18 ¢m, .. PC+CA+ DB+ PD=

18 em, .'.PA:% X 18=9(cm). '~ PA,PB £

OO W, ~. LAPO= /BPO = 30°. &
RtAAOP H1, PO=2A0, fit OA* +9* = (2A0)? ,

45 OA=3V3 () . i OO0 Hy2E42H 34/3 cm.

BOR A

1.A ‘S PA,PB#BEOO Wik, .. PA=PB.
** SAPB=160°, .. APAB &% ih =M%,
S AB=PA=10.

2.D OO NYTFWHE ABCD, .. AD+BC=
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AB+CD. " AB=10,BC=7,CD=38, .. AD+
7=10+38.f#fF AD=11.

.20 145° 72.5° “*PA.PB.EF 454 ©0

FA.B,D,..PA=PB,AE=ED,DF=BF, ..
A\PEF i J& PE+ PF+EF=PE+EA+
PEF+BF=PA+PB=2PA=20 cm. %4 OE,
“" PA, PB, EF 4y 3 Y] ©O F A. B, D,
~./PAO= /PBO=90°, /EOA = /EOP,
~/FOD= /FOB, .. /AOB = 360° — 90° —

90°—35°=145°, .'.4E()F:%4AOB:72. 5°.

L 55°E 125° i, % OA, OB, | LOAP=

~OBP=90°,

S /BOA = 180° — /P=110°, .. /AEB =
/AOB=55°. .~ JUih ¥ AEBF J&®O0 [ 5 5
Pihi%, . S AFB=180°"— /AEB=125". D4
CETEMINAB FiEghit, /BCA= /AEB=
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. (D% OE, " DA,DE /33200 W4k,
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<. /AOD= /EOD.
[RIBEAIIE .~ BOC=_/EOC.
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. DE_OE
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- OBCH 4(11‘3:% (/ABC+ /ACB)=55°,
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A
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5. WA 3% OP. ** PA,PB Jy OO0 [ 414
~/APB=60", " /OAP= _/OBP=90°, /APO=
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.'.AE:BE:%ABzfﬂ cm,

CF:DF:%CD:zL cm.

1 Rt/ACOF W ,0C=5 cm,CF=4 cm,

HR A2 e 845 . OF =3 e,
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5.6,0=5. 6.

y

D C

A P |0 Q
& 3
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T EFEL
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@HFOP 5 CD MYIT i C & 5.4 PC_L
CD.RIGE P 50 BRI QP=Q0=4.1=
4s.

y
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A

&l 5
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/BCA=65", /A=50". " CD//AB. .". /ACD=
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8.C HOOKFA2H r. 76 RtAADO i, AD=
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4()8(?:%4145(?: 35°,
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A c
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S/ BAC=30".
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